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JIEH2 3,619,760 136,851,526
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ANEZHS ] 7,913,000 123,678,536
=AM T Y| 27,900 123,650,636
W SH| 825,000 122,825,636
SIS XA 1,666,700 121,158,936
JIEt W S| 345,854 120,813,082
A b 934,380 119,878,702
=EJ| 2AH 462,190 119,416,512
SIS H| 226, 450 119,190,062
= S XH & 1,383,450 117,806,612
ALSI & 2| TH & AL 7,501,510 110,305, 102
£l XA 2 AHS Y 1,050,000 109,255, 102
SAB| AL 2,369,940 106,885, 162
AL TH & AL H 500,000 106,385, 162
NEEESYEE 943, 100 105,442,062
JIEFALHI 17,070,960 88,371,102
gA(X210182) 141,204,566 52,833,464 88,371,102
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Ao 5 A 718,096 690,279 27,817 4.0% N & & A 718,096 690,279| 27,817 4.0%
Atglsel | 3,000 1 2,999 299900 . 0%| A+ 527,043|  496,552] 30,491 8.1%
At 4= 3,000 1 2,999 299900.0%  [ol7du| 457,829 430,654] 27,175 6.3%
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AT g 0 0 0 0.0% U2 450 200 250 125.0%
A E 0 0 0 0 0.0% M $ct 98,917 66,454 32,463 48.9%
s o 0 0 0 0.0% CEEEICEEEE 32,454 30,557| 1,897 6.2%
L= 548,790 532,045 16,745 0.0% NEER R 34,475 32,208 2,267 7.0%
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CIENESEEIE] 31,000 31,000 0 0.0% +8H U $48 17,208 15,857 1,361 8.5%
MAdzo|ea 92,705 94,732 A2,027 £2.1% 3323 15,760 14,574 1,186 8.1%
M zole2 92,705 94,732 02,027 A2.1% H M BopZ 8,200 7,800 400 5. 1%
HAZolaa 2,705 3,547 2842 A23.7% - 6,006 4,622 1,384 29.9%
’%gﬁg%g 90,000 91,185 1,185 A1.3% 7|EF2 | 9,540 8,600 940 10.9%
Melz 12,001 12,001 0 0.0%|RH Ak A | 17,001 28,001| 411,000  A39.3%
Moz 12,001 12,001 0 0.0% |AlAdy 17,001 28,001 411,000 A39.3%
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7| Etol| 20| A} =& 100 100 0.0% (At Y| 66,644 57,911 8,733 15.1%
7|EtE e 500 400 25.0% A Al B 46,643 39,067 7,576 19.4%
ot okd) L] 1 1 0 0.0%
9| gH| 6,500 6,500 0 0.0%
o 24| 3,600 3,600 0 0.0%
| Y g 3,000 3,000 0 0.0%
+&7|aHs| 6,900 5,743 1,157 20.1%
ngy| 4,000 3,997 3 0.1%
88 E| 195 20 175 875.0%
EM T 200 30 170 566.7%
4y 1 1 0 0.0%
nEFey| 1 1 0 0.0%
& X| | 1,650 2,344 ABY[  A29.6%
ngH| 1,352 1,000 352 35.2%
F8to{ | 1 1 0 0.0%
7|Etm S| 600 600 0 0.0%
Aleis| 97,246 99,316 A2,070 A2.1%
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oS EAI Y| 1 1 0 0.0%
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Abs| Al 2| Xy gAY bl 11,700 9,000 2,700 30.0%
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ErE 1 1 0 0.0%
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